
 3
4 " 

 48" 

 36" 

 60°  60° 

 60° 

 60°  60° 

 60° 

 42" 

Pipe Flange Locations

Bottom Board
   (Top Side)

 42" 

 45° 

 45° 

 45° 

 45° 

 45° 

 45° 
 45° 

 45° 

 22.5° 

Bottom Board
(Bottom Side)

Wheel Locations

 3
4 " 

 48" 

 21" 

 60°  60° 

 60° 

 60°  60° 

 60° 

 42" 

  Top Board
(Bottom Side)

Pipe Flange Locations

 48" 

 21" 

Top Board
(Top Side)

 1
4 " 

 48" 

 20" 

 60°  60° 

 60° 

 60°  60° 

 60° 

Top Plastic Cover
  (Bottom Side)

Spacers glued
to the edge.

Top Plastic Cover
     (Top Side)

 30" 

 48" 

 21" 

 20" 

 36" 

 3
4 " 

 3
4 " 

 1
4 " 

 2 1
2 " 

Side View

1/2" Pipe Flange

1/2" x 30" Pipe

Plywood

Plastic

2" Casters

Plastic Block Spacers

Plywood

Isometric View
Hidden view

Line up Wrapping opening 
between pipes.

 31 3
4 " 

Stand Wrapping Material

 R24" 

 1
16 " 

 20°  20° 

Opening may vary
depending on length
of material or hip width

Stand Drawing ITEM NO. PART NAME DESCRIPTION QTY.
1 Top  Board 48" Dia x 3/4" Plywood Board 1

2 Bottom Board 48 Dia x 3/4" Plywood Board 1

3 Black Pipe 1/2" NPT x 30" Thread on both ends 6

4 Plexiglass Top 48" Dia. x 1/4" Plexiglass 1

5 Ram Board 1 Roll, 38"w x 50' x 1/16" 1
6 Sheet Metal Screws 1 pkg, #6 x 1/2" 1

7 Washers 1 pkg #6 SS Washers 1

8 Swivel Casters 2" Rubber Wheel Castors 8
9 Phillips Head Screws 1 pkg (of 10) #10 x 3/4" 4

10 Pipe Flange 1/2" NPT Pipe Flange 12

11 Phillips Head Screw #12 x 3/4" Phillips head screw 48

12 Plastic Bolcks 3/8" x 3/8" x 1" plastic block 6

D

C

B

A
A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View13
	Drawing View14
	Drawing View15


